20215%E MEISURVZ7IILEFE F2HRX FEFREK ; (a5

FEIJIIJEESR-FO—X

202148H27H(%) (6169y P72)

IG5 E % B TOTAL OUT IN  APEET jggy E % 7B TOTAL OUT IN  AERET jEfy E % B TOTAL OUT IN

1 i B RZ— 73 37 36 O | 47 BN E=x EE 86 44 42 91 FHHA HExX —kLay 91 45 46

2 HE B 83 76 38 38 O | 47 FH H= B2 ERE 86 46 40 91 HKR FIE REH 91 48 43

2 BRX EE 7 5B 76 38 38 O | 47 KH E% HEE 86 42 44 91 Fxk T BEERER 91 43 48

4 /AR FEEK SwvELwY 78 37 41 O | 47 HE Eif KR 86 42 44 91 HLE Hsh ZEH 91 44 47

4 FH EE AEIF 78 39 39 O | 47 &O & K2 86 45 41 91 & fE— i 91 46 45

4 ER ## WA ERE 78 38 40 O | 47 =F BXx RE 86 45 41 91 FhfR BERL RAER 91 45 46

4 R T 40l 78 39 39 O | 47 % 1EBA X% 86 43 43 91 UfE HREA AR 91 45 46

8 XE EA| ZHL—SY4K 79 41 38 O | 47 kW & B IR 86 45 41 91 J\K XB AEE 91 48 43

8 *zm HERI PGM;t F 79 41 38 O | 47 HE FiE A—4=IzLE 86 45 41 103 REX ZE&F PGM;t 92 45 47

10 A IE ZARER 80 41 39 O | 47 T# =T ZH 86 42 44 104 BEAR BERX HEE 93 47 46

10 ,,Er B AEE 80 38 42 O | 58 FH 2% Yoo L—k 87 46 41 104 BHEA W= BN 93 50 43

12 HAX B R=— 81 40 41 O | 58 WK =— HFEF 87 45 42 106 BH {85 UMH 94 49 45

12 maa e &8 81 40 41 O | 58 HFT BX R=-— 87 44 43 106 A% FH7 PGM;th H 94 42 52

12 He BEH fﬂciénﬁ 81 42 39 O | 58 #F# =H RABER 87 43 44 108 S8 A 83 95 47 48

12 WF B WA ER 81 45 36 O | 58 [&H HEE BHE 87 46 41 108 £8 # RABR 95 49 46

12 7HHE HFER A—#H=(cL= 81 41 40 O | 58 /B —ER Bm=E 87 43 44 110 84X [&E %A E R 96 49 47

12 XiE E®X SwUELYY 81 41 40 O | 58 #IEH Z=EB BEEER 87 44 43 110 % HRIE AR 96 47 49

18 JIIA A A 82 41 41 O | 65 B @A wAER 88 46 42 112 & [T PGM;th H 97 54 43

18 #l B DR 82 45 37 O | 65 BEA B RH 88 44 44 113 MER T #A 98 47 51

18 K& HE EEVS 82 40 42 O | 65 {E@E ®IE =) 88 45 43 113 #F FIX AEIF 98 48 50

18 A =Eih TR 82 39 43 O | 65 Fm =& I AV 88 41 47 113 @B & B2 ERE 98 51 47

18 FHE #EX KEF 82 41 41 O | 65 HO HiE HEE 88 45 43 116 HE 1ESK gag— 99 48 51

18 il jB - AV 82 42 40 O | 70 AR F XL 89 46 43 116 4R HEE RAEE 99 49 50

18 WWH = R 82 40 42 O | 710 X X ZEH 89 44 45 116 & 1& XL 99 53 46

18 /Mt & SwUELYY 82 43 39 O | 70 B2HE = E3 89 44 45 119 ¥7H [ A—H/=[CLE 100 52 48

18 f&IL EiE JNE 82 41 41 @) 70 FE = XE 89 45 44 119 BEE R =X\ 100 51 49

27 K % =T-IAY-Y 83 43 40 O | 70 KT #2 =ZHL—SY4(K 89 47 42 121 A IEE RAER 101 52 49

21 & 288 JNER 83 43 40 O | 70 A = ER 89 45 44 121 % &HFE EIPNIT 101 45 56

27 W XK— BmEHR 83 42 41 O | 70 W & I AV 89 43 46 121 KXZ BA i 101 53 48

27 ®A IEA ZARER 83 44 39 O | 77 &EQO & RyE 90 46 44 FEE IR — BN

27 FRX o HEE 83 43 40 O | 77 mExE #L— X 90 44 46 RE BT = R

27 fEME XE Wi 83 43 40 O | 77 I EHE =S 90 47 43 RE % £BR AEE

271 8 —H FiF 83 45 38 O | 77 ¥H =X BEREER 90 43 47 RE FHF W AE

34 FH AZBEB 45y euxmm 84 43 41 O | 711 TN OHEiE NS 90 42 48 RE EBHE B—B HAHEEE

4 BF Bz KARER 84 42 42 O | 77 A EE ER 90 47 43 REEH B RAR

34 1A & T—kLAY 84 42 42 O | 77 BHHE EB— FSuR—)LE# 90 46 44 RE SN GE MH ERE

34 EM # SyRUELYY 84 41 43 77 BR —X KR 90 46 44 RE TN B KB

4 EFE T FEE+ 84 42 42 77 BE m— A=— 90 48 42 RE Ll =2 ZE

34 JHW Fxm Em 84 42 42 O | 71 F#FE FH 9] 90 48 42 RE A0 17 B/ FN

40 FHF XX AxF 85 43 42 77 A == KB 90 44 46 RE INA EBR 7o 2 %

40 f[E HBE Em 85 44 41 77 ®#Il EH B/ FN 90 44 46 REBA =i RE

0 F = UMH 85 40 45 77 EH X(E % 90 45 45

40 U —s HifE 85 46 39 77 @A B B 90 44 46

40 :tr?i‘z 5} Ha 85 43 42 91 Il EE 91 46 45

40 H# EIX TR 85 41 44 91 HB¥ FA AEER 91 45 46

40 WL % HEE 85 40 45 91 Hik IE F N 91 48 43

47 MF EE = 86 43 43 91 Fl HEA PGM;th 91 43 48




